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Find the angle through which the axes must be turned so that the equation
Ix—my+n=0 (m#0) may be reduced to the form ay+b=0.
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Show that the envelope of the circles whose centres lie on the rectangular
hyperbola xy =c? and which pass through its centre is (x> + y*)* =16¢*xy .
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Prove that the spheres S, =x° +y*+7° +2ux+2vy+2wiz+d, =0 cut the
sphere S, =x* + ¥ +2° 4+ 2u,x +2v,y + 2w,z +d, =0 in a great circle if
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Find the length of the parabola y* =16x measured from vertex to an extremity of
the latus rectum.
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